
  



 

  

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there 
is no need to substitute it, select No improvement.  

There are too less space for Naveen to park his car in front of the shop. 

Ans 
 1. was so few space 

 2. were too little space 

 3. No improvement 

 4. was too little space 

 

 Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. 
Select the most appropriate option for each blank. 

‘Staged tourism’ whether it is of the tiger or the snow leopard kind, is driven by the desire of visitors to see 
specific animals. This often (1)______ pressure on a certain area, with hordes (2)______ tourists rushing to a 
spot. In (3)______ case of tigers, it is quite possible (4)______ the animal is stressed by the (5)______ caused 
by a bunch of excited tourists. 

SubQuestion No : 5 

Q.5 Select the most appropriate option to fill in blank number 1. 

Ans 

 

 Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. 
Select the most appropriate option for each blank. 

‘Staged tourism’ whether it is of the tiger or the snow leopard kind, is driven by the desire of visitors to see 
specific animals. This often (1)______ pressure on a certain area, with hordes (2)______ tourists rushing to a 
spot. In (3)______ case of tigers, it is quite possible (4)______ the animal is stressed by the (5)______ caused 
by a bunch of excited tourists. 

SubQuestion No : 6 

Q.6 Select the most appropriate option to fill in blank number 2. 

Ans 
 1. by 

 2. from 

 3. of 

 4. with 

 

  

  

  

  

  

  

  

  

  

  

  

  

  



  

 

 
 

 
 

  
 

 

  

   

  

  

  

  

  

  

 

 
 

 
 

  
 

 

  

   

  

  

  

  

  

  



 

  

Comprehension: 

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. 
Select the most appropriate option for each blank. 

‘Staged tourism’ whether it is of the tiger or the snow leopard kind, is driven by the desire of visitors to see 
specific animals. This often (1)______ pressure on a certain area, with hordes (2)______ tourists rushing to a 
spot. In (3)______ case of tigers, it is quite possible (4)______ the animal is stressed by the (5)______ caused 
by a bunch of excited tourists. 

SubQuestion No : 9 

 Q.9 Select the most appropriate option to fill in blank number 5. 

Ans  1. dismissal 

 2. disbelief 

 3. disturbance 

 4. disappointment 

 

Ans 

Q.11 Select the correct passive form of the given sentence.  

Please make a cup of coffee for me. 

 Ans  1. I request you to make a cup of coffee for me. 

 2. Let a cup of coffee be made for me. 

 3. Can you please make a cup of coffee for me? 

 4. A cup of coffee can be made for me by you. 

 

  

  

  

 

 

  

  

  

  

  

  

  

  

  

  



  

 

 

   

  

  

  

  

  

  

 

 

   

  

  

  

  

  

  

 
 

 
 

 
 

 

   

  

  

  

  

  

  

 

   

   

  

  

  

  

  

  



 

  

Q.16 Select the most appropriate synonym of the given word.  

ROTUND 

 Ans  1. Range 

 2. Round 

 3. Rocky 

 4. Rolled 

 

Q.17 Select the most appropriate option to fill in the blank in the given sentence.  

The area is ______ close circuit television surveillance. 

 Ans  1. over 

 2. into 

 3. about 

 4. under 

 

Ans 

Q.19 Select the correctly spelt word. 

 Ans  1. Insigneficant 

 2. Unsustanable 

 3. Immpending 

 4. Changeable 

 

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

  



 

  

Q.20 Select the most appropriate ANTONYM of the given word.  

ARROGANCE 

 Ans  1. Humility 

 2. Honesty 

 3. Familiarity 

 4. Ignorance 

 

Q.21 Select the most appropriate option to fill in the blank in the given sentence.  

Students who are capable of understanding and managing their ‘emotional intelligence’ do better at 
school in ______ to their peers who lack the ability. 

 Ans  1. comparison 

 2. resemblance 

 3. similarity 

 4. difference 

 

Ans 

Q.23 Select the INCORRECTLY spelt word. 

 Ans  1. Surender 

 2. Succulent 

 3. Success 

 4. Succumb 

 

  

  

  

  

  

  

 

 

  

  

  

  

  

  

  

  

  

  



  

 

 

   

  

  

  

  

  

  

 
 

  
 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  



 

  

Q.2 

Ans 

 

 

 

 

 

 

Q.3 

Ans 
 

 

 

 

 

 

  

  

  

  

  

  

  

  

  

  

  

  

  

  



  

 

 

  

  

  

  

  

  

  

 

 
  

  

  

  

  

  

  



  

 

 
  

  

  

  

  

  

  

 

 
  

  

  

  

  

  

  

 

 
  

  

  

  

  

  

  



 

  

 Q.9  

 Ans 1.  

2.  

3.  

4.  

 

Q.10  

 Ans 1.  

2.  

3.  

4.  

 

 

  

  

  

  

  

  

 

   

  

  

  

  

  

  



  

 

 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  



 

  

 

Q.16  

 Ans 1.  

2.  

3.  

4.  

 

 

 

  

  

  

  

  

  

  

  

  

  



  

 

   

  

  

  

  

  

  

 

 
  

  

  

  

  

  

  

 

   

  

  

  

  

  

  



 

  

Q.20  

 Ans  

 

 

 

 

 

Q.22  

 Ans 1.  

2.  

3.  

4.  

 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  



 

Q.23  

Ans  

 

 

 

 

 

Q.25  

Ans 1.  

2.  

3.  

4.  

 

Section : Quantitative Aptitude(Basic Arithmetic Skill) 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  



  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  



 

 



 

  

 Q.8  

 Ans 1.  

2.  

3.  

4.  

 

 Q.9  

 Ans 1.  

2.  

3.  

4.  

 

 

Q.11  

 Ans 1.  

2.  

3.  

4.  

 

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  



 

  

Q.12  

 Ans 1.  

2.  

3.  

4.  

 

Q.13  

 Ans 1.  

2.  

3.  

4.  

 

 

  

  

  

  

  

  

 

   

  

  

  

  

  

  



 

  

Q.15  

 Ans 1.  

2.  

3.  

4.  

 

 

  

  

  

 

 

  

  

  

  

  

  

  



 

  

Q.17  

 Ans 1.  

2.  

3.  

4.  

 

Q.18  

 Ans 1.  

2.  

3.  

4.  

 

 

Q.20  

 Ans 1.  

2.  

3.  

4.  

 

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  



 

Q.21  

 Ans 1.  

2.  

3.  

4.  

 

Q.22  

 Ans 1.  

2.  

3.  

4.  

 

Q.23 

Ans 

 

 

  

  

  

  

  

  

  

  

  

  



 

  

 

  

  

  



 
 



 
 



 
 



 
 



 
 



 

Q.18 2011 क जनगणना के अनुसार, न न ल खत म स ेकौन-सा रा य, भारत म सबस ेअ धक घनी आबाद वाला रा य है? 

 Ans  1. महारा 

  2. प म बंगाल 

 3. बहार 

 4. गोवा 

 

Q.19 न न ल खत म से कौन-सी एक ऐसी णाली है, जस ेइले ॉ  नक संगीत वा यं के बीच सूचना सा रत करने के लए डज़ाइन 

कया गया है? 

 Ans  1. एम.आई.डी.आई.(MIDI) डवाइस 

 2. ऑ टकल माक रीडर (Optical Mark Reader) 

 3. वज़ूअल ड ले यू नट (Visual Display Unit) 

 4. बार कोड रीडर (Bar code reader) 

 

  

  

  

  

  

  



 

  

Ans 

 Q.21 उस औ ॉो गक अथ व ॉा को सबस ेअ  अथ व ॉा के  प म प रभा षत कया जाता है, जसका 50% 

या अ धक उ पादन मू य ______ ॉे से आता है। 

 Ans  1.  तीयक (Secondary) 

 2. ततृीयक (Tertiary) 

 3. ॉाथ मक (Primary) 

 4. ब कग (Banking) 

 

  

  

  



 

 


